1. EEETH A HEBERAILT

ver.12.3 SH6E (2024%) 38318 RE
1 MEEREXRIER
R4 |([BEZA FrfEHh |E[R1T B26%8E MXX5 |JbLEREH X
Kn¥E Y EN F2E [TEF INDEE | ZZFRr
FAEERER |TERE &HXZAT BAERS |1TEEE (A R)
EEEXRK (BEE
SRERM (A BEREE155% HETXETHRE LM
HREBM [MROERICETIEHEREZDESELD
+ | TAERE 3,257.51 m ERXRS
= | memm |- m ax
|| HmiE 325751 m FRi& hizg
BE (#marou—rE
B| BEERE 153242 m P 3k
,fg ENEE 2,24750 m HAmEE
| BEEE FEF0534F (19784F) | BBEHK
it FA £ 4% iE504E it = %t 3R
WEEERT x HWEKE|x FEREKE|x HKKEEF|x IBEE|x XKMUKE | x FEEL | x BxE
WEREEHE (G BEEEODHEIL FELUEES
2 EEER(EA: A, TA)
IEH R1 R2 R3 R4 R5 IR R
Iy | e FRE - F 20 1,655 1,487 1,360 996 3 0 4 I I
A ZDih 1,775 1,698 1,751 1,552 1,144 A 50000 ‘ I
st (A) 3,430 3,185 3,111 2,548 1,147| A 100,000
= A 150,
H%kﬁ Hoe% R1 R2 R3 R4 R5
A SEHEE
g s RS FHIZIS (Bifr: Fm)
=Y )
ANGE &t
52 e
tlj FEtH 11,598 12,017 12,718 13,398 19,711 5060 o
BRERE 1,017 84,429 22413 36,007 1,100
SeokEZE 6,942 6,939 7,325 8,769 8,060 X
b i gt TE oy
:];E“E = ﬂﬂ [ PN REH BiERE
sqolict 1,503 1,685 1,651 2,945 5,463 Sk % mEEEEH " 20t
5t (B) 21,060 105,070 44,107 61,119 34,334 A%
IR (A-B) A 17,630 A 101,885 A 40.996| A 58571| A 33187)
FIRAA 170,097 153,055 150,285 149,018  133,623| 150000 == —
AR oo
E €320 170,097 153,055 150,285 149,018 133,623
R1 R2 R3 R4 R5
| BEAH 243 244 244 243 243
— FI| A
1R LY OFIAEK 700 628 616 614 550




3 WREZMHER

No. MREY R BEER | ENEE BiE R 480 BEFE | BAFH | WMEME
1
2
3
4
5
6
7
8
9
10
4 REER
IXERE
No.| &4 A 4 SEE(FA) 2EE
1 H28.9 |F&EBLHKBETSE 4,256 |[{EEHMHER A4 - () ILERS
2 R2.7 |ILA—45—HEIZE 49,500 (¥) P Er#A
3| R311 |HEEHEIE 19,492| (A7) #5H
4 R35 |NEREREIS 33,660 (#k) 71/ —
5| R412 |MLFEZRFERIEIS 4,485 (M) BEEI VAV TFUR
6| R412 |SEEHEIE 28,578| = R (%)
7 R5.9 |LAT7IFERICHESHNIBHIETISE 5,577 et A M ERER
8
9
10
11
12
13
14
15

5 {&%E




